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4.3m = 430 cm
A2 9] Yol 430 x 250 = 107500( cm?) = 10.75( m?)
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HE D 014
HE T 2030000
HE D 20300
HEFD 203

1km? = 100 ha = 10000a = 1000000 m?
(1) 14a = 1400m? = 0.14 ha
(2) 20.3km? = 2030000 m? = 20300a = 203 ha




® 3.6ha = 360 m?2 @ 46 a = 46000 m?
(@)240 a = 0.024 km? @ 300m? = 0.03a

® 8km? = 8000000 a

B

@ 3.6ha = 3600 m?
@ 46a = 4600 m?
@ 300m? = 3a

® 8km? = 80000 a
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(0)0.3km? @ 0.3ha ® 300a

@ 3000 m? ® 3ha

B

T 22 &9= 1AM v
@ 0.3km? = 30ha
® 300a = 3ha
@ 3000m? = 30a = 0.3ha
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@ 56000000g = 56t

@ 380000g + 0.063t = 443 kg
@3.5t + 820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 HjolTt.

® 380kg + 4200 g = 380.42kg

1t = 1000 kg = 1000000 g
@ 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg




R EE L L DR R

AA] F5HA 2.

Z3taF (kg ) | 890 | 759

594

it
|

vV V¥

Hehl 2916 ¢

890 + 759 + 673 4+ 594 = 2916( kg)
— 2.916t

Tlo
e,

4n




9. Hulol] uhol At & AHe] RAF 18kg &) AAE 250 A} 8
Bk Seol] uheo] 4t Sete B E ¢ 917 FoHAL.

B t

>
> Heh: 45 ¢

AR} S8 18 x 250 = 4500( kg) = 4.5(t)
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e 28000000 m?

1km? = 100 ha = 10000a = 1000000 m?
4km X 7km = 28 km?
28 km? = 2800 ha = 28000000 m?
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160 x 90 — 90 x 40 = 2 — (50 + 70) x 30 = 2
= 14400 — 1800 — 1800 = 10800( m?) — 108a
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19.2m? = 192000 cm? ,
(A AHE 9] 72 9] A ol)= 192000 + 320
= 600( cm)
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(A2 2] Hol)-(% 7] Helol g
= 160 x 100 — (70 x 100 + 2 + 100 X 40 + 2)
= 16000 — (3500 + 2000)

= 16000 — 5500 = 10500(m2) = 105a
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A1t 302=5.541%F
Eo] BA: 740 x 5.5 = 4070(kg) = 4.07(t)
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25 x 140 = 3500(kg) = 3.5(t) YUt
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(380 + 540) X 370 = 2 — (50 + 420) X 160 + 2

170200 — 37600 = 132600( m?) = 13.26( ha)
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(AR oddol)+(AH=E 2] Hol)

= 4.25 ha = 425a = 42500 m?

(HAd T =n9] Hol)

= 140 x 150 + 2 = 10500( m?)

(A& 1 L e o o] Bo])= 42500 — 10500 = 32000( m?)
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(AE o) x105 + 2 = 10500 °f| A

(AE )= 200(m)

{(¥ L ©)+120} x 200 + 2 = 32000 ,

(¥ L&)+120= 320 , (4 LT)= 200(m)
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7= 200 x 120 = 24000( m?)

H=E@x160

7+ Y=8 ha = 800a = 80000 m? o] 2L
24000+ x160 = 80000

@x160 = 56000

@= 56000 + 160 = 350(m)
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= (4000 — 15 x 250) = 5 = 250 = 5 = 50(7H)
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28800 + 2 = 14400( m?)
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(120 +[ ) x 180 + 2 = 14400 ,
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196 + 2 = 98( kg) @Yt

1.35t = 1350 kg ]| B2

1350 + (82 + 98) = 7.5(A1%h)
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(AM FA)= 25 x 30 = 750( kg)

(Hel F 74]) 2500 — 750 = 1750( kg)

(¥ gt A=kl A= 1750 + 50 = 35(kg)
(A< Sl Hl9] A2 47)= 1400 + 35 = 40(%
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